
1) (102 + 14) ÷ 19 + 1

Answer: ____________

2) Increase 96 by 54%

Answer: ____________

3) 678 - (-800)

Answer: ____________

4) 49 x 14.7

Answer: ____________

5) 44 x (-18)

Answer: ____________

6) 713.7 - 266.5

Answer: ____________

7) 713.7 - 266.5

Answer: ____________

8) What would you multiply by to 
increase an amount by 37%?

Answer: ____________

9) $268.37 earning 8% compound 
interest for 8 years.

Answer: ____________

10) 2% of 15

Answer: ____________

11) 8.1 x 45.1

Answer: ____________

12) 8.1 x 45.1

Answer: ____________

13) Increase 231 by 1/33

Answer: ____________

14) 18/
7 ÷ 12

/2

Answer: ____________

15) Increase 47 by 96%

Answer: ____________
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16) 510/13 x 1513/14

Answer: ____________

17) 5   17/20 - 1   14/15

Answer: ____________

18) 17/19 x 7/3

Answer: ____________

19) (5 x 89) x (9 x 109)

Answer: ____________

20) 92 * 99

918

Answer: ____________

21) Write 1 x 103 as a normal number.

Answer: ____________

22) Decrease 60 by 66%

Answer: ____________

23) An amount was decreased by 7% to 
$301.00. Find the original amount.

Answer: ____________

24) 49% of 58

Answer: ____________

25) Decrease 116 by 3/58

Answer: ____________

26) What would you multiply by to 
increase an amount by 89%?

Answer: ____________

27) What would you multiply by to 
decrease an amount by 10%?

Answer: ____________

28) Find the percentage change from 3 to 
95.7

Answer: ____________

29) Find the percentage change from 3 to 
95.7

Answer: ____________

30) 3/46 of 276

Answer: ____________
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31) Decrease 36 by 78%

Answer: ____________

32) 9/10 x 18/3

Answer: ____________

33) 14/3 + 16/3

Answer: ____________

34) Round 5.06707538 to the nearest 
whole number.

Answer: ____________

35) Round 5.06707538 to the nearest 
whole number.

Answer: ____________

36) Write 2 x 108 as a normal number.

Answer: ____________

37) (1 x 48) / (8 x 11)

Answer: ____________

38) 783 - (-863)

Answer: ____________

39) Write 80000000 in standard form.

Answer: ____________

40) 63/12 x 1310/13

Answer: ____________

41) 150.06 ÷ 12.3

Answer: ____________

42) Increase 144 by 1/24

Answer: ____________

43) Round 14.274 to the nearest whole 
number.

Answer: ____________

44) 9-15 * 915

Answer: ____________

45) 33% of 12

Answer: ____________
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46) Increase 39 by 18%

Answer: ____________

47) Increase 39 by 18%

Answer: ____________

48) 501.8 ÷ 26

Answer: ____________

49) 19.7 x 48.5

Answer: ____________

50) Decrease 10.2 by 69%

Answer: ____________

Total: ___ / 50
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Answers:

1) 7 2) 147.84 3) 1478 4) 720.3 5) 6) 447.2 7) 447.2

8) 1.37 9) $496.73 10) 0.3 11) 365.31 12) 365.31 13) 238 14) 3/7

15) 92.12 16) 91163/182 17) 311/12 18) 25/57 19) 6039797760000000000 20) 9-7 21) 1000

22) 20.4 23) $279.93 24) 28.42 25) 110 26) 1.89 27) 0.9 28) 3090%

29) 3090% 30) 18 31) 7.92 32) 52/5 33) 100/1 34) 5 35) 5

36) 200000000 37) 8192 38) 1646 39) 8 x 107 40) 863/52 41) 12.2 42) 150

43) 14 44) 90 45) 3.96 46) 46.02 47) 46.02 48) 19.3 49) 955.45

50) 3.162
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